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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Marks of each question indicate right side.

1  Meera Co. Ltd. examining two mutually exclusive 20
proposals for new capital investment. The particulars of
proposals are as follows :

Particulars Proposal - A Proposal - B
Cash outlay Rs. 52,000 Rs. 78,000
Salvage value Rs. 4,000 Rs. 8,000
Estimate life 4 Years 5 Years
Depreciation Straight Line Straight Line
Method Method
Corporate income-tax 50% 50%
Cut-off rate for appraisal 12% 12%
Earnings Before
Depreciation and Taxes : Rs. Rs.
15t Year 16,000 24,000
2nd Year 20,000 28,000
3rd Year 24,000 32,000
4th Year 30,000 36,000
5th Year — 30,000

From above information for the both proposals calculate :
(A) Pay-Back Period

(B) Net Present Value

(C) Profitability Index

(D) Internal Rate of Return. (Low Rate -12% and High
Rate -15%) Also give an advice which proposal would
be preferable.

OR

1 Vishva Co. Ltd. wants to install a new machine in the 20
place of existing old one. The Company made inquiries and
received two offers. The estimated life of both the machines
is five years. For both the machines there will be no salvage
value at the end of fifth year. Further details are as follows :
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Particulars Machine - A Machine - B
Cash outlay Rs. 50,000 Rs. 80,000
Cash Inflow Rs. Rs.
Year - 1 - 20,000
Year - 2 10,000 28,000
Year - 3 40,000 32,000
Year - 4 28,000 34,000
Year - 5 12,000 16,000

The company cost of capital rate is 16%. Using following

methods instruct which machine is more profitable ?
Pay-Back Period
Discounted Pay-Back Period
Net Present Value Method
Profitability Index Method

Internal Rate of Return Method (Low Rate -16% and
High Rate -20%).

(1)
@)
®3)
(4)
(5)

2 XYZ company is considering to invest in a project, 20

having initial investment of Rs. 99,000. The useful life of

this project 1s 3 years and it has not residual value. The

estimate of cash flow after depreciation but before tax and

their probabilities are given below :

Year-1 Year-2 Year-3

Cash | Probabilities | Cash Probabilities| Cash Probabilities
Inflow Inflow Inflow

20,000 0.1 | 40,000 0.3| 60,000 0.1
32,000 0.5 | 32,000 0.5| 80,000 0.2
24,000 0.3 | 28,000 0.5| 80,000 0.3
40,000 0.2 | 20,000 0.1] 20,000 0.4
48,000 0.1 | 16,000 0.25] 12,000 0.5
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The cut-off rate of the company is 12%. The tax rate is 50%.

At the rate of 12% discount factors of three years are given

20

15

below :
0.89310.797 [0.712

Would you advise to accept project?

OR
ABC Company is considering purchasing one out of
the two machines for the production of new product. The
investment in each machine will be Rs. 1, 00,000 and they
would give benefit for 12 years. For each alternative, three
estimates of cash flow are given. Optimistic, Most Likely
and Pessimistic. This estimate is given below :
Particulars Machine - A | Machine - B

Rs. Rs.
Cost Price 1,00,000 1,00,000
Estimate of Cash Flow :
Optimistic 32,000 40,000
Most Likely 24,000 20,000
Pessimistic 16,000 1,000
The annuity of Rs. 1 at 14% for the 12 years is Rs. 5.66.
The cost of capital is 14%.
Which machine is more risky?
A farm owner plans to dig well in his farm. In the
surrounding farms, at a depth of 200 feet water is found
in 70% well. Those who have not found water till 200 feet,
some of them dig 250 feet and from it water is found in
20% well. If farm owner does not wish to dig well then,
he can buy the water from the surrounding farmers. Whose
expenditure for the 10 years is Rs. 15,000. The cost of
digging well per foot is Rs. 50
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Using the above information prepare decision tree and find

the best solution for the farm owner.

OR
3 (A) Subham Co. gets one project. The required 10
informations are as follows :
Time duration (Weekly)
Activity | Previous | Optimistic | Most Likely | Pessimistic
Activity Time Time Time
A — 4 06 08
B — 16 16 16
C A 14 18 22
D B 12 12 12
E C 18 20 22
F C 20 28 36
G C, 22 22 22
H F, G 12 20 28
1 E 08 10 12
J I 06 08 10
K H 02 02 02
Calculate :
(1) Draw PERT network diagram and identify critical
path.
(2) Find out the expected time for every activity.
(B) Write differences between PERT and CPM. 5
4  Write short notes : (Any Three) 15
(1) Measure indicators of social-cost benefit
(2) The scope of social responsibility accounting
(3) Affecting factors to strategic decision
(4) Procedure of social cost benefit analysis
(5) Social audit
(6) Characteristics of strategic management accounting
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